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Question 2:

A linear lime invariant system responds the following inputs with the
corresponding outputs:

Hx(r)=u(r) then yit) = (1—e ™ Juizr)

K x{t) = coa{ 2¢) then y(1)= 0.707 cos(2r - x / 4}

What will the output yit) be for the fallowing x{t):

(@) x(t) = &(r)

(B) x(2) = ru(r)

Hint: What relationship exizls batwean the inputs?
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5. Desermine yit) = x(ty*hit) where x[t) = ufi) and

hit)
2
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| 1 2 1
,j‘fr_-" 6. Compute x{ty*vit)
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3. {10 marks) Use the derivative property of convolution to find
wir) = x(r} * p(r), where
i |2 (1)
| —I'I 1 —— Hl}
3 T I 1
-2 0 | 0 2
{The result from the previous question may be useful )
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2.1l
{10 marks) Suppose y; (), y2(r) and y3(¢) are as shown below:
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If x(r) and wif) are
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then sketch o, @ Sk
(a) x(t) * yyir) MU, Blk-1)
(B) x{t) = ya2(2) o)
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Differential Equaticms:

1. Solve the following problems for wik Plot vour answers (either sketch them by hand or uss

MATLAR) for t =Dt =5 ser,
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